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Question No. 1

Simplify: \[176 + /2401

A) B)

14

L3
(0]

0 D)

18 15

WA HL 176 + /2401

A) B)

14

L2
Ut

0 D)



18 15

Answer Key : D Your Response : B (Wrong)

Question No. 2

Which of the following can cause damage to buildings?
A) Infrasound B) Sound at about 10kHz

C) Shock waves produced by supersonic D) Subsonic sound

aircraft

feafaf@a & & ST T ARG F THAT TgaT Fhell 7

A) 3795 eafel B) <eT8TeT 10kHz aTelr &afel
C) gwalfieh fadeT & 3ceal 3Tend o’ D) wedifeieh eafer
Answer Key : C Your Response : A (Wrong)

Question No. 3
The disease caused by deficiency of protein in children is called-
A) Pellagra B) Beri-Beri

C) Kwashiorkor D) Rickets

T=at F WA fr FAr A A grel AN H FAT FgT A1ar &2

INIRCIE B) -
C) FaTfIaRE D) RecH
Answer Key : C Your Response : A (Wrong)

Question No. 4

Which word will best c




Volume : Litre :: Length : ?
A) Hectare B) Kilogram

C) Metre D) Watt

el AT oAeg ST U 0 Heer & Gafead o1 F QT FEM?

IS ; et oF TS ?

A) gFRIX B) ferailama
C) #HIex D) arc
Answer Key : C Your Response : C (Correct)

Question No. 5

f8#2@5=21and 4 #6 @ 2 = 26, then what willbe 3# 7 @ 9?

I8 H#2@5=213IR4#6@2=26% A3 #7 @ 9 & gN?

A) 40 B) 47
C) 52 D) 30
Answer Key : D Your Response : D (Correct)

Question No. 6

The total of ages of X, Y and Z is 27. X is 2 years older than Y and Y is twice as old as Z. What
is the age of Y?

A) 5 B) 8

| = e ™ e 8 i 2 e O CYitn et £ . / 1




XYIRzZA3gHmAT27 8 X, YT 2 a¥ T3r 5 3R Y i 3myg, Z & e 81 Y #r 3y
EICKIE L

A) 5 B) 8
C) 12 D) 10
Answer Key : D Your Response : B (Wrong)

Question No. 7

is the physical quantity of the substance which is numerically equal to the resistance of a
rod of that substance which is 1 m long and 1 sq m in cross-section.

A) Charge B) Conductance

C) Resistivity D) Resistance

gerd fr siifas Ui & S TS ®9 H 3 gy ¥ 99 1 X &9 3R 1 gt Aew
3TEY FIC T TF BF F ARy & e g &

A) 3aer B) dTeTehdl
C) Widrereher D) wfeRier
Answer Key : C Your Response : C (Correct)

Question No. 8

If tan 2A = cot(A-18°) and 2A is an acute angle, then find 'A'.
A) 24° B) 36°

C) 28° D) 18°

Ifg tan 2A = cot (A-18 °) § 3K 2A s G FoT §, A 'A' F AR AT AT

A) 24° B) 36°
C) 28° D) 18°
Answer Key : B Your Response : B (Correct)

Question No. 9

T P ey W / 1




Choose the figure that best represents the relationship among the
classes given below.
Pharmacists, Professionals, Architects, Carpenters

A) B)

0 D)

3™ HPHIT T8 H, Al Arafeiaa A & d S e @
mm@ﬁrﬁamﬁ’n
WIATUES, UET, HTTehed, 928

A) B)

O D)

Answer Key : C Your Response : D (Wrong)

Question No. 10

If tha narimatar nf a (T ey / " lraa?



C) 49 cm? D) 28 cm?

afg et Feger @1 aRera 28 ¥ §1 swet seaPsar 3.5 Wt ¥ gwa aiEwe Aa Hifawl

A) 35 GHP? B) 42 @#rP
C) 49 a#r D) 28 @HI?
Answer Key : C Your Response : A (Wrong)

Question No. 11

Find the missing number in the following series.

110, 99, 86, (...), 54, 35
A) 67 B) 81

C) 71 D) 75

fAfaf@d Aol & ood d&ar a1 hifsw]

110, 99, 86, (.), 54, 35

A) 67 B) 81
C) 71 D) 75
Answer Key : C Your Response : C (Correct)

Question No. 12

What is the resultant resistance if 2 Q resistors are connected in parallel?
A) 0.5Q B) 1Q

C) 30Q D) 2Q

2 Q % wfoe A TR FA A F3 U 5, o IRomd s = g




C) 3Q D) 2Q

Answer Key : B Your Response : B (Correct)

Question No. 13

Perimeter of an isosceles triangle is 32 cm. The base is 6/5 times the equal side. What is the

area?
A) 39cm? B) 57 cm?
C) 48 cm? D) 64 cm?

U FAGiaaTg Fsger 1 IRAT 32 Ve {1 SHHAT ITUN, WA ST HT 6/5 AT §1 GG A
SIfoIT]

A) 39 GHP? B) 57 @HI2
C) 48 a#r D) 64 @A
Answer Key : C Your Response : C (Correct)

Question No. 14

What is the nature of bleaching powder?

A) Reducing agent B) Blistering agent
C) Sulphonating agent D) Oxidising agent
ST a1t 1 Sy R 42
A) e AfdFAw B) Wt 31f@ e (Blistering agent)
C) Hewlfea fdrmaen D) 3ffereiih e 3MToehaleh
Answer Key : D Your Response : A (Wrong)

Question No. 15

Which word will best complete the relationship given below?

Charminar : India :: Pyramid : ?

AN \/atiran | e s R —— Y / 1




FieT AN eg Y AU 1T Hefer o Fafeersr dor § qob HEMm?

IRAGR : 9RT = TfRs 2

A) afewma B) &9
C) TSI D) Sdols
Answer Key : B Your Response : B (Correct)

Question No. 16

Which of the following Ministries won the platinum of Web Ratna Award in Digital India Awards
2018?

A) Ministry of Youth Affairs and Sports B) Ministry of Corporate Affairs

C) Ministry of Communications and D) Ministry of Micro, Small and Medium

Information Technology Enterprises

faf@a & ¥ g Aaey o BSed s 3asy 2018 7 a5 I 36 # wiftaw Raw
SHer?

A) WS Td JaT HATE B) @IARE ATHGT T FHATSRT
C) HuR Ud gaell Yichifarhr Haterdr D) §&H, o Ud HEIH 3cTH HATT
Answer Key : D Your Response : Not Answered

Question No. 17

From a point 'P', Rohit walks for 5 km towards east direction. He then turns right and walks for 2
km. Again he turns right and walks for 3 km; He then again turns right and walks for 2 km to
reach a point 'Q". What is the distance between the points 'P' and 'Q'?

A) 3km B) 4km

C) 1km D) 2km

AR v g 'P' @ g oo #r 30 5 el <ol 81 a8 BT ard Fgar & iR 2 frelr werar g
ﬁw@raaaléaﬂtﬂsm%zﬂr3ﬁm’rm% agﬁwﬁalésﬂtﬂsmzﬁaﬂm%aﬂt
& fde 'Q' w




C) 1 falr D) 2 frer

Answer Key : D Your Response : D (Correct)

Question No. 18

P and Q enter into a partnership with investments of Rs.1400 and Rs.1800 respectively. They
share half of the profit equally for running the business and the remaining profit in the ratio of
their investments. If the difference in their shares of profits is Rs.47, what is the total profit?

A) Rs.954 B) Rs.504

C) Rs.804 D) Rs.752

P 3k Q Har: $.1400 3R $.1800 & 3w & AMY T ABIGHKY H YAy o &1 T T & 31
fFE 8 @I gaug & durel & AT @d § 3R Y BEY F1 39 @A & 3o & dic o gl
I AT H 37 REA FT 3R $.47 &, A FoI a0 A AfSw]

A) 3.954 B) %.504
C) %.804 D) %.752
Answer Key : D Your Response : Not Answered

Question No. 19

Simplify: tan (60° - 8) - cot (30° + 6)

A) B)
. 2+4/3
Bt 2
5 Nz
0] D)




HI I tan (60° - 6) - cot (30° + 6)

A) B)

]
.I.
=

Tl =
&

0 D)

Answer Key : C Your Response : C (Correct)

Question No. 20

Which of the following is a saturated hydrocarbon?

A) Methane B) Propylene
C) Butadiene D) Acetylene
PFfaf@d & @ Fla @ dqed eEgeea ¥?
A) #Hoe B) WidelleT
C) sgcrsiEe D) ufafeels
Answer Key: A Your Response : A (Correct)

Question No. 21

Find the ODD one out from the given options.

A) Odissi B) Bharatanatyam

AN | T i L e Y ST eyt [ 1



R e Repedt # & I |

A) 3nfsdr B) #Rd«CIH
C) drguft D) FfAger
Answer Key : C Your Response : C (Correct)

Question No. 22

The main function of vitamin K is in-

A) Skin health B) Blood clotting

C) Immune system D) Calcium absorption

farfae K &1 7eg w4 ¥ HefAd e &l

A) AT FI TGFYT T B) Tl & STHe

C) Yfaer votel D) Shicrres raeivor
Answer Key : B Your Response : B (Correct)

Question No. 23

If 2508 + 12.54 + (X x 11) = 200, then find the value of 'X'.
A) 2.5 B) 3.5

C) 4 D) 0

Ifg 2508 + 12.54 +(X x 11) = 200 &, @ X' & AT AT HfAC

A) 2.5 B) 3.5
C) 4 D) 0
Answer Key : D Your Response : D (Correct)

Question No. 24

A man walks from P to Q at the rate of 5 km/h and returns from Q to P at 3 km/h. What is his
average speed for the whole journey?

A) 3.25 km/h I e i 1



HE ¥ P & Q & 5 freli/der & grar & werel ST § 3R Q § P T 3 fpieer fr urer @
a9y 1 g1 gl I % SR 3wehr Jted | w1 §?

A) 3.25 Thev/Eer B) 3.75 Thal/erer
C) 3.5 forai/ger D) 8 farai/aer
Answer Key : B Your Response : B (Correct)

Question No. 25

Which number will best complete the relationship given below?

6:36::8:7?
A) 47 B) 46
C) 48 D) 49

6:36:8:7
A) 47 B) 46
C) 48 D) 49
Answer Key : C Your Response : C (Correct)

Question No. 26

Find the wrong number in the following series.

9,15, 24, 34, 51, 69

A) 31 B) 34




ferfaf@a 4ol & o w1 & I

9, 15, 24, 34, 51, 69

A) 51 B) 34
C) 24 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 27

Which constellation has other names as The big dipper, Great bear and Saptarishi?
A) Orion B) Scorpio

C) Ursa Major D) Ursa minor

fFE dRFAST F 3T a1 9o Bw, I R 3R aeafi §2

A) 3R B) 3fe®
C) TediN#HseT D) =&l
Answer Key : C Your Response : C (Correct)

Question No. 28

is the matter or substance through which sound is transmitted.

A) Interface B) Medium

C) Environment D) Surrounding

I€ ged AT 9o §, Orwd Arew ¥ eafer =i &

A) sHA B) ATEIH
C) drdreaor D) uRaer
Answer Key : B Your Response : B (Correct)

Question No. 29

I = PR — Bl SRSV N / 1



A) 89786145 B) 78579452

C) 79438163 D) 78698365

e 'MISTAKE' & 9765412 & &7 & fa@r Jrar § 3w 'NAKED' & 84123 & &9 & for@r Jrar
g, d 'INTIMATE' = fd 9R forar aem?

A) 89786145 B) 78579452
C) 79438163 D) 78698365
Answer Key : B Your Response : B (Correct)

Question No. 30

If f\!fl_O =3.16, then find the value of 30

9

A) B)

3/16 1/8

0 D)

1/4 1/16

?Jﬁxfl—O:S.lﬁ,ET\/% T AT AT FL

A) B)

| T i L e Y ST eyt [ 1



3/16 1/8

0 D)

1/4 1/16

Answer Key : This Question is dropped and
Your Response : Not Answered

will not be consider during the evaluation

Question No. 31
In which of the following Indian states is Dal Lake situated?
A) Jammu and Kashmir B) Himachal Pradesh

C) Uttar Pradesh D) Gujarat

‘sl Siiel IR & et 7 @ v ToT & Rura 87

A) IFH TG HAR B) fRAMe wger
C) 3cak Uesr D) erid
Answer Key : A Your Response : A (Correct)

Question No. 32

Two numbers are in the ratio 3 : 5. Their LCM is 75. What is their HCF?
A) 15 B) 5

C) 4 D) 3

ar §EA 3 : 5 & 3FUT H §l 3 /T (LCM) 75 ¥ 31l A.A.T (HCF) wrer Hfarwl

A) 15 B) 5

I = PR — Bl SRSV N / 1




Answer Key : B Your Response : B (Correct)

Question No. 33

How many squares are there in the given figure?

AN

A B
) ) 16
20
0) D)
11
25

& S T F fraw T B

AN

A) B)

| ===




11

L2
(W]

Answer Key : B Your Response : A (Wrong)

Question No. 34

Two right circular cones of height 16.4 cm and 17.2 cm respectively have base radius of 8.4 cm.
These two cones are melted and recast into a sphere. Find the diameter of the sphere.

A) 16.8 cm B) 8.4cm

C) 8.2cm D) 8.6 cm

AT 16.4 @ 3R 17.2 Qo Fa$ ey & FagechT A, SR 3muR B 8.4 @ 71 s
areit eip3ft Hr Rreremar srar § 3R wF A F T 7 FTew Frar g1 e F oA AT R

A) 16.8 G#T B) 8.4 T
C) 8.2 @Y D) 8.6 T
Answer Key : A Your Response : Not Answered

Question No. 35

The mass number of deuterium is-

A) 3 B) 2
C) 1 D) 4
SR A goAeT HEr Rl §7
A) 3 B) 2
C) 1 D) 4
Answer Key : B Your Response : B (Correct)

Question No. 36

W / 1



C) Apple D) Pomegranate

fefaf@d & & Fla a1 sg-ish oo 7 82

A) gdar B) el
C) a9 D) 3R
Answer Key : B Your Response : B (Correct)

Question No. 37

Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the center but
not necessarily in the same order. Each one of them wears different colours of shirts—blue,
green, red, black, yellow, white, purple and pink.

P sits third to the right of the one who wears pink, and only two people sit between the one who
wears pink and W. Those who wear yellow and green are the immediate neighbours. Neither P
nor W wears yellow or green. The one who wears yellow is not an immediate neighbour of the
one who wears pink. The one who wears blue sits second to the left of T. T is not an immediate
neighbour of W. The one who wears blue is an immediate neighbour of both those who wear
white and purple. The one who wears purple sits third to the right of Q. Q does not wear yellow.
R sits to the immediate right of the one who wears red. P does not wear red. U is not an
immediate neighbour of P. V is not an immediate neighbour of the one who wears blue.

The person who wears sits exactly between those who wear pink and white.
A) Yellow B) Red
C) Blue D) Green

Ifaf@d IR FF & § 9¢ 3R A Re 1w w2sr #r 3cav &I

M aAFd- P, Q, R, S, T, U, VIR W T gedlpR AT & IRI 3 Fgr I 3 HE b 95 §



A W dor §, AR e a€ g gu AfFd I W & T Haer g @er § §1 S Ao die
INRNTHAT AL, ITH G & AFecdd B ANPIRATWAT T X T A
E TgeT §| Forwer dier 1 T A€ Ul &, I§ I A€ TeA §U AR F W A AT gl o
Aol o Tl ¥ 96 T & 15 3R gy &I W do7 §1 T, W & eas sl it &1 ot
el o€ Ugelr &, 9 Thg R JaEN o€ UgA e et I Fpead PRl & e ol o
Tl § 9% Q F T 3T Y T | AT &1 Q F drelr A€ 7 gget §1 R, ol AE gge
arer Safed & ar§ Forel H dor §1 P o ol A€ A ggelr §1 U, P F weas sk a8 &1 V
Al A ggeter aTer N eheaw g 7 B

Puaafdaa o€ ggelr §, a8 o AR g A< Ugeler dre sAfFadl & Sk o &
der Bl
A) drer B) el
C) sirelr D) &I
Answer Key : B Your Response : Not Answered

Question No. 38

Functional group —CHO is present in which of the following?
A) Ketone B) Aldehyde

C) Alcohol D) Carboxylic acid

FriicHs Feg -CHO fw=faf@d & & frwet g &ar 87

A) FIclT B) ufesgrss
C) Ucdigd D) wreiferdiels 31el
Answer Key : B Your Response : Not Answered

Question No. 39

Which of these is NOT a bone in the human body?

A) Anvil B) Hammer

C) Stirrup [

DY) Ao
e W / 1



ffaf@a & & #la @ A9 Wl & 9 e arelr §@53 a8 87

A) tlege B)
C) &g D) TeH
Answer Key : D Your Response : Not Answered

Question No. 40

A homogeneous mixture of two or more substances is known as the-

A) Solution B) Fission

C) Colloids D) Suspension

ar a1 31 verd & ve Fodg AT H el I &l

A) faeasT B) fa@sI(Fission)

C) Hiclss D) faeiseT (Suspension)
Answer Key : A Your Response : A (Correct)

Question No. 41

The angle of elevation of a hot-air balloon climbing vertically changes from 30° at 10:00 AM to
60° at 10:02 AM as observed from a point 300 m away from the take-off point. What is the
upward speed of the balloon?

A) 3.4 m/s B) 2m/s

C) 218 m/s D) 2.9 m/s

33 g ¥ 300 HieT H gl ¥ 3W S W Fed favr F FW f AW S W Th W gar H
IEER FT 3e=idel 0T Iied: 10:00 Foi, 30° ¥ e UIel: 10:02 ot 60° & e g1 Fed feoum
# IsaN I A AT AT

A) 3.4 Fre/AHs B) 2 Hicy/dss
C) 2.18 Hiex/AHs D) 2.9 #Hey/qss

Answer Key : D Your Response : Not Answered




A) Combination reaction B) Redox reaction

C) Decomposition reaction D) Neutralisation reaction

e segs 1 Reat 3R sefe & ear T TF 3eme0T gl

A) TS AfAfRaT B) 3UadigTy AfAfhar

C) 3qucs AfAfHar D) 3cralerenor 3fafshar
Answer Key : C Your Response : C (Correct)

Question No. 43

0.04 x 0.0123 is equivalent to

A) 492 x 104 B) 4.92 x 10
C) 4.92 x 10* D) 492 x 10°°
0.04 x 0.0123, & TAGD g
A) 492 x 104 B) 4.92 x 106
C) 4.92 x 104 D) 492 x 105
Answer Key : C Your Response : D (Wrong)

Question No. 44

Noise pollution is measured in-
A) Ohm B) Decibel

C) Joule D) Ampere

eafer gguor # AT ST
A) 30H B) 3w
C) St D) ufrgax

Answer Key : B Your Response : B (Correct)

I = PR — Bl SRSV N / 1



Which of these creatures do NOT have teeth?

A) Turtles B) Pigs
C) Dogs D) Horses
st & R ST & i 7 O &
A) FPT & B) W &
C) &cd & D) @13 &
Answer Key : A Your Response : A (Correct)

Question No. 46

An opthalmologist is one who treats-
A) Skin B) Bones

C) Eyes D) Limbs

sircdenidiioree g 39N T &2

A) cadr &l B) gsf3ai &
C) 3fr@r &1 D) 3791 &r
Answer Key : C Your Response : B (Wrong)

Question No. 47

One morning after sunrise, Kumar was standing in a ground facing a pole. The shadow of the
pole fell exactly to his right. Which direction was he facing?

A) South B) West

C) East D) Data inadequate

qaled & g Th P, AN U Hald # Tk Ol A AN g KA @er or| 9 A orr 385
&1 alfeel T sl ¢l 98 fohw e & 37 #jg TR gu am?

A) gfaror B) ufRae
C) qd D) el 39I]ed

S | T P P e N R S W W ST Y /-




Question No. 48

Arrange the following fractions in descending order.
5/6, 3/7, 8/9, 3/14

A) 5/6, 8/9, 3/7, 3/14 B) 8/9, 5/6, 3/7, 3/14

C) 3/7, 8/9, 5/6, 3/14 D) 8/9, 3/14, 3/7, 5/6

Rfaf@a e 9 39S F F IfEAd Hfaw]

5/6, 3/7, 8/9, 3/14

A) 5/6, 8/9, 3/7, 3/14 B) 8/9, 5/6, 3/7, 3/14
C) 3/7, 8/9, 5/6, 3/14 D) 8/9, 3/14, 3/7, 5/6
Answer Key : B Your Response : Not Answered

Question No. 49

What is the common name of gases and liquids?

A) Fluids B) Gel
C) Resin D) Chemicals
3T T gal T WA AT =T 57
A) @d B) oo
C) e (X7S1=) D) &
Answer Key: A Your Response : A (Correct)

Question No. 50

In which district of Jharkhand is Tagore Hill located?
A) Lohardaga B) Simdega

C) Gumla D) Ranchi

& e SIREE & Rrw oy ¥ R ¥7

| e




C) IET D) Y

Answer Key : D Your Response : Not Answered

Question No. 51

Choose from the alternatives the figure that best completes the

pattern given below.

O|O
O

A) B)

) D)

&) O,

fgw a1v RBwesit # ¥ 97 apla g4, o A e e e g e
R

=
==

A) j B)
— 1 ‘ | e e R S e s y——— - 1




0 D)

e O

Answer Key : C Your Response : C (Correct)

Question No. 52

What is 'Halitosis' commonly known as?
A) Head ache B) Blood Pressure

C) Bad breath D) Flu

AT Fr PG W FT A7 & S ST 82

A) RRec B) I&a T
C) @iw @ gifer D) We[
Answer Key : C Your Response : Not Answered

Question No. 53

Village Chimur is 20 km to the north of village Rewa. Village Rahate is 18 km to the east of
village Rewa. Village Angne is 12 km to the west of Chimur. If Sanjay starts from village Rahate
and goes to village Angne, in which direction is he from his starting point?

A) Northwest B) South

C) North D) Southeast

o Rg, ae far F 3caw 7 20 el fr g W B e e, e Jar F g F 18 Rl Hir
gt W &1 I 39, R & afResr & 12 Rl & gft w31 IR dorr o @er & T 4w
X AMH 3T I ST ¢, o 98 39ar Yot Rig & fra far & 2

A) IR uiaH B) gfaror
C) 3 D) gf&ror qd

Answer Key : A Your Response : A (Correct)




Himawari-9 is a Japanese satellite.

A) Weather B) Communication
C) Navigation D) Ground
feAed-9 T SaE 399% &
A) HitgA B) #UR
C) =ifaarersT D) #HifFs
Answer Key : A Your Response : Not Answered

Question No. 55

Which of the following does NOT belong to the plant kingdom?
A) Fungus B) Bush

C) Shrub D) Tree

@ & O FiT a1 TeT SeTT O Hefed T8 87

A) B%hE B) $T5-3/@ms
C) zst D) s
Answer Key : A Your Response : A (Correct)

Question No. 56

Which of the following is the process of splitting up of the heavy nucleus of a radioactive atom
into smaller nuclei when bombarded with low energy neutrons?

A) Nuclear destruction B) Nuclear fusion

C) Nuclear generation D) Nuclear fission

fet & & =l @ Tt 3ot e gl @ e Fed Rt ey & ol afdw @ e
AT F Fenfara s v uishar g7

A) ATfARRT @t B) TR Herdel
_D) o3Py fawssT

a N /- 1




Question No. 57

Which of the following Articles deals with 'Prohibition of traffic in human beings and forced
labour'?

A) Article 29 B) Article 27

C) Article 30 D) Article 23

fefaf@a & @ Fla a1 37t AT F geaIR vd JaraHEd & gfadeyr & Heft 87

A) 3TTRE 29 B) 3fzae 27
C) 3tzsse 30 D) 3%leoq 23
Answer Key : D Your Response : Not Answered

Question No. 58

The sum of the atomic masses of all the atoms in a molecule of the substance is-
A) Formula mass B) Mole

C) Atomic mass D) Molecular mass

9Ty & U 3] A His[g Fell WA & A GeAATEAl & AT FHY HRAT FT AT §?

A) g gegHAld B) @il
C) WA GegATT D) 3mUae gegATmsT
Answer Key : D Your Response : D (Correct)

Question No. 59

What should be the minimum age to get the Rajya Sabha membership?
A) 25 years B) 35 years

C) 18 years D) 30 years

TSIHAT AT FEETIdT Ut & T YeAda Y AT el Agw?
A) 25 a¥ B) 35 &y

— . - ¢ I = PR — Bl SRSV N / 1




Answer Key : D Your Response : B (Wrong)

Question No. 60
Which of the following banks became the third largest Bank in India in April 20197
A) HDFC Bank B) Axis Bank

C) Bank of Baroda D) SBI Bank

ffaf@a & O S a1 3% 3t 2019 F ARG Fr N G 927 d8F 9T T2

A) HDFC &% B) UfFaw d+
C) d= 3i% rsiar D) SBI d%
Answer Key : C Your Response : Not Answered

Question No. 61

Which of the following options will best complete the relationship given below?

19(413)22
11(431)32
42(?2?)12
A) 541 B) 514
C) 145 D) 154

efaf@d & & Sl a1 fewed i fow v deyr it wafedsr &7 @ Qo Hen?

19(413)22
11(431)32

42(272)12




C) 145 D) 154

Answer Key : A Your Response : Not Answered

Question No. 62
Who is India's first woman grandmaster in chess?
A) Saheli Dhar B) Bhagyashree Thipsay

C) R. Khadilkar D) S. Vijayalakshmi

AT & W H ARG A ggell AR AT =i §2

A) dgell &R B) #megst f&cw
C) R. @A D) S. fasrgeear
Answer Key : D Your Response : Not Answered

Question No. 63

The population of a city has been increasing at 5% every year. The present population is
185220. What was its population 3 years back?

A) 160000 B) 180500

C) 180000 D) 178000

TH AT T SIAHEAT Ui a¥ 5% & g A 9¢ W g1 JaAe saaear 185220 gl 3 a¥ ugel
SHAT FAGEAT fhelr A2

A) 160000 B) 180500
C) 180000 D) 178000
Answer Key : A Your Response : Not Answered

Question No. 64

P alone can do a job in 18 days. P and Q working together can do it in 15 days. They started to
work together. After 10 days Q left, and P alone has to complete the job. In how many more
days can P complete the job?

A Q Aawve I = PR — Bl SRS N / 1



P 3fhell T ST 1 18 el 7 U T Fhell & Psﬂwawwmaﬂﬁgcs@rwﬁ?ﬁﬁ
T X TH &1 38 T A FF FEm IF fmaml 10 et & a5 Q o w1 = R, sk P
P 3bel 3 FH FN QU FET g1 P F AT FF F QU we H e Rer ww@em?

A) 8 f&eT B) 5 feat
C) 7 fef D) 6 feat
Answer Key : D Your Response : D (Correct)

Question No. 65

Find the ODD one out from the given options.

A) 8:25 B) 15:46
C) 12:39 D) 9:28
Ry e Reost 3 & I P g
Ay 8:25 B) 15 : 46
C) 12 : 39 D) 9: 28
Answer Key : C Your Response : C (Correct)

Question No. 66

Read the following information carefully and answer the question given below.

Five friends Arun, Bala, Cheenu, Dinesh and Elango are sitting on a bench facing north. Arun is
sitting next to Bala. Dinesh is sitting next to Cheenu. Dinesh is not sitting with Elango. Elango is
on the left end of the bench. Cheenu is on the second position from the right. Arun sits to the
right of Bala.

What is the position of Dinesh?
A) Extreme right B) Third from right

C) Extreme left D) Second from left

G P I IECG RGO




qie QR 30T, dTell, o], feerer 3R gl ek T 3R Hg & TF o W I8 &1 30T, Frer
& TSl H o gl f&er, <o) F Forer 7 dor BN e, s F Wy 7@ dor §1 Ceiel, S &F ar¢
faYy o dor &1 ey, T ¥ GEY TG R FoT §1 3107, TNl & 1§ AN a7 B

fearer gl dor 82

A) T IR F9TT FH B) &© 3R & dER TUH W

C) 1S 3R garel & D) 918 3R ¥ g TUH W
Answer Key : A Your Response : A (Correct)

Question No. 67

Which Indian cricket ground hosted the first ever Test match in India?
A) Eden Gardens B) Feroz Shah Kotla

C) Bombay Gymkhana D) Chepauk Stadium

AR H Ygol &TC AT FT IS FT ART fhehe g X fFar I/ ar?

A) s34 IMSH B) fURIeT Mg Hical
C) iy e D) Jdiehr Ff3as
Answer Key : C Your Response : Not Answered

Question No. 68

If '+ means '+, '-' means '+, "+' means 'X' and 'xX' means -, then 32 +4-8x4+3 =7
A) 5 B) 6
C) 7 D) 4

I '+ FH Aded '+ §, - T AJST "+ §, '+ F Aderw X § AR X F Adew U F, A 32 + 4
-8x4+3=7




C) 7 D) 4

Answer Key : D Your Response : D (Correct)

Question No. 69
With which sport is the term 'silly point' associated?
A) Cricket B) Hockey

C) Football D) Badminton

Aol TET oeg 7T Tl ¥ Hafda 87

A) e B) glehr
C) pedld D) Ssf#es
Answer Key : A Your Response : Not Answered

Question No. 70

A gain of 12% is got by selling an article for Rs.3360. What should be the selling price, if the
profit aimed is only 8%?

A) Rs.3020 B) Rs.3240

C) Rs.3040 D) Rs.3200

forell o @I $.3360 H d°T W 12% T @7 Wod @ §1 A SHaer 8% r amer e fwar
STt 8, o R A{ea e g anfRe?

A) 2.3020 B) %.3240
C) %.3040 D) %.3200
Answer Key : B Your Response : B (Correct)

Question No. 71

Buses come out of a bus terminus in intervals of 10 minutes at 20 km/h. A man coming from
opposite direction towards the terminus meets the buses at intervals of 8 minutes. What is his
speed?

AY R lm/h I = PR — Bl SRS N / 1



T 10 RAde & 3iaUa W 20 FevEer fr o O 9 a9 O Aeadr § Ruda fer &
e fr 3T S T T EHT 8 e F RIS W Al F UR Il &1 3HHr 9T AT
iG]

A) 6 faEer B) 5 fors/eer
C) 3.75 T#/Eer D) 4 fsi/eer
Answer Key : B Your Response : C (Wrong)

Question No. 72

A shopkeeper gives a discount of 10% once in 4 months. If a man purchases an article in this
scheme for Rs.25515 in December, then what was the initial price in January?

A) Rs.36000 B) Rs.40000

C) Rs.35000 D) Rs.45000

T GFEGR & 4 T 7 TF SR 10% @ g aar §1 I A sufFa 3@ doen & T@aT
a] @I He # $.25515 & @lied &, o Faall & 39 &g F WRAS FeT AT ur?

A) %.36000 B) %.40000
C) %.35000 D) %.45000
Answer Key : C Your Response : A (Wrong)

Question No. 73

The LCM of two numbers which are in the ratio 2 : 3 is 48. What is their sum?

Answer Key : C Your Response : C (Correct)

T P ey W / 1




Find the group of wrong alphabets in the following series.

M,C,P,F,T,G,Y
A) P B) Y
C) C D) G

faf@d Joft 7 3R & T Fqog F AT B

MCPFTGY

A) P B) Y
C) C D) G
Answer Key : D Your Response : D (Correct)

Question No. 75

A number of two-digits has 3 for its unit's digit, and the sum of the digits is 1/7 of the number
itself. Find the number.

U GI-3{h I TEAT & SHS & A W 3 § 31 5T 31 &1 A1 59 &7 & 1/7 §1 &0
AT AT

A) 73 B) 63
C) 53 D) 43
Answer Key : B Your Response : B (Correct)

Question No. 76

To obtain an enlaraes=aaanastasslaaasss ey ~~—~—*~——"- convex lens. where



A) Atinfinity B) Between F4 and 2F

C) Between focus F4 and optic centre O D) At2F4

Jedel o GaRT 39adel & a1 2Fy ¥ W U NaEfd aedias 3eer Sfafda areg & & fow,
aE] I FEl WM ST dMgu?

A) 3dd W B) Fq 3R 2F; & &
C) B Fq 3R 3fifteced deX O & & D) 2F4 W
Answer Key : B Your Response : D (Wrong)

Question No. 77

A train 120 m long crosses a platform of length 100 m in 10 seconds. What is its speed?
A) 72 km/h B) 79.2 km/h

C) 100 km/h D) 80 km/h

120 #HieX e T IS 10 Hhs H 100 HeT o T TAcHH FHl G Fdl &1 SHA ol Al
EoIT 1y

A) 72 TRe/Eer B) 79.2 TReT/EeT
C) 100 fRe/Eer D) 80 fRal/EeT
Answer Key : B Your Response : B (Correct)

Question No. 78

If in a certain code, 'bir le nac' means 'green and tasty’, 'pic nac hor' means ‘tomato is green'
and 'coc bir hor' means 'food is tasty', which of the following means 'tomato is tasty' in that

code?
A) picle coc B) hor bir pic
C) birle hor D) pic hor nac

Ifq AREA He sWr #, 'bir le nac' F HAdeld 'green and tasty’ &, 'pic nac hor' Fr AT
'tomato is green' & 3{IT 'coc bir hor' # Hced ‘food is tasty' 8, 3 Feowr # AF=faf@d #

== = = SAn = . 1

A



A) pic le coc B) hor bir pic
C) bir le hor D) pic hor nac

Answer Key : B Your Response : D (Wrong)

Question No. 79

Find the missing number in the following series.

4,7,12,(...), 28, 39

A) 19 B) 14
C) 24 D) 16
fefaf@a Aol & oo w=ar A fiEw|

4, 7, 12, (.), 28, 39

A) 19 B) 14
C) 24 D) 16
Answer Key : A Your Response : A (Correct)

Question No. 80

Which of the following kings was the father of Sanghamitra and Mahendravarman?
A) Krishnadeva Raya B) Bimbisara

C) Kanishka D) Ashoka

fmfaf@a # & =ia & uen, daf@Er iR Aggaet & far 47

A) PO B) fefFsar
C) HfeTSh D) 3mele
Answer Key : D Your Response : Not Answered

Question No. 81

If Re RA amniinte {n s T  / — \are at tha eama rata




A) Rs.124.70 B) Rs.127.40

C) Rs.114.8 D) Rs.137.60

Ifg 5. 64 fr URY 2 st 7 g T. 83.20 & ST &, ar AIROT sTIeT FHr 3 FfAAd T W 3.
86 Fr UMY 4 auf F Fraeir g srwah?

A) 2.124.70 B) %.127.40
C) %1148 D) %.137.60
Answer Key : D Your Response : D (Correct)

Question No. 82

Complete the series.

ZZ, TX, NU, HP, (...)

A) AJ B) PR
C) BI D) MC
Soft &t ot &

ZZ, TX, NU, HP, (.

A) AJ B) PR
C) BI D) MC
Answer Key : C Your Response : C (Correct)

Question No. 83

Find the missing number in the following series.

2,7, 16, (...), 46, 67, 92

— - — PO an | T ———— R P L N R S W SV _— / 1



2,7, 16, (.), 46, 67, 92

Answer Key : D

What comes in the place of *7

Your Response : D (Correct)

Question No. 84

Lo 1.1
4 "6 8 12
A) B)
5/12 7112
Q) D)
5/24 7/24
* o5 T 9T FAT gE?
IR G
4 6 8 12
A) B)
5/12 T/12



o) D)

Answer Key : C Your Response : C (Correct)

Question No. 85
Who among the following has become the first ever captain to win 100 matches in IPL history?
A) Rohit Sharma B) David Warner

C) Virat Kohli D) M.S. Dhoni

Tfeaf@a #§ 9 fFasr Isdva’ & sfag & 100 &9 Side gl 9o &odieT 8 & IR
giffer fham?

A) Ufgd AT B) 333 @R
C) foRIe shigelr D) M. S. el
Answer Key : D Your Response : Not Answered

Question No. 86

A group of similar organisms which are genetically distinct and reproductively isolated, is called
a/an-

A) Class B) Order

C) Species D) Family

AT Shal &l U g, S el &9 & [T v yoedeacns &9 & [Jaf@a @a § 39
AT FET AT &2

A) T B) &H
C) vt D) afEr

Answer Key : C Your Response : Not Answered

| P i e R L SR PR . / 1



If 2720 + 2710 = 3K then find the value of K.

A) 30 B) 27
C) 15 D) 12
Answer Key: A Your Response : A (Correct)

Question No. 88

42 horses consume 270 kg of corn in 27 days. If there are 21 horses only, then how many days
will 300 kg of corn last?

A) 60 B) 72

C) 45 D) 48

42 €13, 27 =T # 270 fram Axg @A §1 I Faer 21 913 §, o 300 Fram AFg Fraer =t
dF Taaf?

A) 60 B) 72
C) 45 D) 48
Answer Key: A Your Response : A (Correct)

Question No. 89
With which type of acid is the atmosphere of Venus made up of?
A) Hydrochloric acid B) Sulphuric acid

C) Oxalic acid D) Nitric acid

A T AGHSA fRE 3T § oo g7

A) gESFdIRe 315 B) HewrgRen 3l

(4 }ﬁmﬁ ol | = PR — F R S = = 1



Question No. 90

Find the ODD one out from the given options.

A) 80 B) 49
C) 24 D) 15
R T Repedt # & I ¥ |
A) 80 B) 49
C) 24 D) 15
Answer Key : B Your Response : B (Correct)

Question No. 91
If the ratio of ages of A and B is 5 : 6 and sum of their ages is 55, what is the age of A?
A) 15 B) 25

C) 30 D) 18

afg A 3R B it 3 &7 AT 5: 6 § 3R 3ok I T AT 55 &, & A Fr 3G AT Hifwl

A) 15 B) 25
C) 30 D) 18
Answer Key : B Your Response : B (Correct)

Question No. 92

Which of these blood components carries oxygen?
A) RBC B) Platelet

C) Plasma D) WBC

TFd FT 51 q ST AT Teh Jifriiste 1 R8T HIar g7
A) RBC B) Telcel

N / 1




Answer Key: A Your Response : A (Correct)

Question No. 93

Malachite is an ore of-

A) Manganese B) Magnesium
C) Mercury D) Copper
AdTFISe, & Th I g
A) Haelsr B) #HTTa
C) 1 D) drar
Answer Key : D Your Response : B (Wrong)

Question No. 94

Which of the following is TRUE about Mass and Weight?
A) Mass is a vector and weight is a scalar B) Both are vector quantities

C) Both are scalar quantities D) Mass is a scalar and weight is a vector

&oIA 3R SR & aR F Pfafla & @ = a8 &2
A) TSTATT TP TG A § 3R R v 3ifeer B) =t afger wivmr g1

SRS
C) arr 3ifeer TRET 1 D) gegdAe U 3ifeer U § 3R ¥R s afewr
SRS
Answer Key : D Your Response : D (Correct)

Question No. 95

National Income in India is measured in terms of-
A) Net National Product at Factor Cost B) Gross National Product

C) Net National Product at Market Price D) Gross Domestic Product

arrT=r TF TIefoT T e et Y / 1




C) WI9R Fed W Y& TS 3cUTe; D) Hehel T 3cUIG

Answer Key : A Your Response : B (Wrong)

Question No. 96

A person borrows Rs.5000 for 2 years at 4% per annum Simple Interest. He immediately lends
it to another person at 6.25% per annum for 2 years. Find his gain in the transaction per year.

A) Rs.150 B) Rs.167.50

C) Rs.112.50 D) Rs.125

T ATFd 4% TR sAST FF a7 F 2 a¥ & fAv & 5000 3UR AT ¢l 98 59 2 a¥ & favw
6.25% Hr A T W 3T IfFadl o ¢ &l gl I a¥ oeteeT H IHT o AT Hfov|

A) %.150 B) %.167.50
C) %.112.50 D) %.125
Answer Key : C Your Response : C (Correct)

Question No. 97

When the speed of any object exceeds the speed of sound, it is said to be travelling at which
speed?

A) Subsonic B) Supersonic

C) Hyposonic D) Infrasonic

S T o hr =Te, et AT @ 3f8F g S €, A SHhr =T FT FAT Fgl Sl 7

A) HSHIfASH B) gwdiids
C) guifas D) swrlfas
Answer Key : B Your Response : B (Correct)

Question No. 98

Which of the following dances is NOT a classical dance of India?

A) Kuchipudi B) Manipuri

I = PR — Bl NI (Y a N / 1




ffaf@a & § =i &1 7 dRT F1 AT T T 82

A) FHfagEr B) Ao
C) g D) 3nfadr
Answer Key : C Your Response : C (Correct)

Question No. 99

On a certain sum of money, the Compound Interest for 2 years is Rs.309 and the Simple
Interest is Rs.300. Find the rate of interest per annum.

A) 7% B) 9%

C) 6% D) 8%

et AREa ee i W, 2 a¥ & whafg AT .309 3 WUROT AT %.300 gIer gl arf¥es
SIS & A AL

A) 7% B) 9%
C) 6% D) 8%
Answer Key : C Your Response : C (Correct)

Question No. 100

Esters have smell.

A) Rotten B) Pungent
C) Chemical D) Fruity
T H aier g g

A) ST SHET B) &t
C) s D) el St&T

Answer Key : D Your Response : D (Correct)
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